Przekroje czynne [fb]

proces (E [TeV]) No Higgs LL  (Signal) | My = 500GeV LL (Signal) | My = 120GeV LL TT TL Beg
w(05TeV)u(051eV) — ddW T WFO(al), bez ciec | 2.2117 (0.7515) . . 1.4602 12.35 8.0805 | 21.8997
u(0.5TeV)u(1TeV) — ddWTWT0O(al), bez cieé 5.1203 (2.1254) . . 2.9949 25.777 16.659 45.4309
w(ITeVyu(1TeV) — ddW T W+O(al), bez cieé | 10.6173 (5.34542) | 6.83928 (1.5674) | 5.27188 16.7754 | 29.522 | SL.56928
w(ITeV)u(1TeV) — ddW W O(a2), bez cieé | 15.8507 (5.3600) | 12.0709 (1.5721) | 10.4988 144.003 | 73.094 | 228.4958
p(TTeV)p(TTeV) — jjWIWT0(al), bez cie¢ | 33.7527 (12.6078) | 23.1078 (1.9629) | 21.1449 176.33 | 111.72 | 309.1949
p(TTeV)p(TTeV) — jjW W TO(a?), bez cie¢ | 50.8431 (12.8872) | 30.985 (2.0291) | 37.9559 14501 | 245.03 | 727.9950
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Rysunek 1: u(0.57eV)u(0.5TeV)
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Rysunek 2: u(0.5TeV)u(1TeV) — ddWTWTO(al), bez ciet
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Rysunek 3: Luminosity (u(17eV) — dW™*)(u(1TeV) — dW™), bez cieé
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Rysunek 6: w(17eV)u(1TeV) — ddWTW+TO(a%), Anjija > 4,2 < nj| < 5, |nw| < 2
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Rysunek 13: p(7TTeV)p(TTeV) — jiWTWTO(ak), Anjje > 4,2 < |n;| <5, [1w| < 2
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Rysunek 16: Luminosity (u(17eV) — dWT)(u(1TeV) — dW™), bez cieé
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Rysunek 17: u(1TeV)u(1TeV) — ddWTWTO(al), bez cigé
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Rysunek 18: u(17eV)u(1TeV) — ddWTW+O(al), Anji e
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Rysunek 19: u(17eV)u(1TeV) — ddWTW+O(al), Anjije > 4,2 < n;| < 5, || < 2
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Rysunek 21: p(7TeV)p(7TeV) — jiWTIWTO(al), bez cigé
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Rysunek 22: p(7TTeV)p(TTeV) — jiWTWTO(a), Anjije
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pp>ijwtw+ 2<[Eta_jl<5 |[Eta_w|<2 QCD=0 MH=500GeV LL Signal
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Rysunek 23: p(TTeV)p(7TTeV) — jiWTWTO(al), Anjij > 4,

pp>jjw+w+ SM No Higgs LL Signal
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Rysunek 24: p(7TTeV )p(TTeV) — jjWHW+O(a3), bez

pp>jjw+w+ 2<|Eta_jl<5 SM No Higgs LL Signal

(b) Sygnal MH500-MH120GeV

pp>jjw+w+ 2<|Eta_j|<56 SM MH=500GeV LL Signal
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pp>jjw+w+ 2<|Eta_j|<56 QCD=0 MH=1R20GeV Bcg
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:p(TTeV)p(TTeV) — jiWTIWHO(ad), Anjije > 4,2 <|nj| <5
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(b) Sygnat MH500-MH120GeV
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Rysunek 26: p(7TTeV)p(TTeV) — jiWTWTO(a%), Anjije > 4,2 < |n;| < 5, |nw| < 2



